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                 K. G. S . MATRIC HR SEC SCHOOL TIRUPUR. 

               PUBLIC  MODEL QUESTION PAPER – II ( 2022) 

CLASS :XII                                                                                                                 MARKS:90   

                          SUBJECT: ACCOUNTANCY                                                                              TIME: 3 HRS 

_________________________________________________________________________________________________________ 

I. CHOOSE THE CORRECT ANSWER: 20X1=20 

1.  Match List I with List II and select the Correct Answer using the Codes given below: 

S.No               List                               S.No         List II 

i)      Remuneration to partners            -   1     Section 13 (c) 

            ii)     Profit sharing ratio.                      -  2      Section 13 (d) 

iii)   Interest on capital.                        - 3       Section 13 (b) 

            iv )  Interest on loan.                           -  4       Section 13 (a) 

Codes: 

(i) (ii) (iii) (iv) 

        (a) 1    2    3    4 

        (b) 4    3    1   2 

        (c)  3   4    2   1 

        (d)  2   1   4    3 

2. Consider the following statement. 

Assertion (A) : Single Entry System is an incomplete, inaccurate, unscientific and unsystematic system of 

book   keeping. 

Reason (R) :  The name of the system itself shows that the double aspects of business transactions are 

recorded. 

a) Both (A) and (R) are true and (R) is the correct explanation of (A). 

b) Both (A) and (R) are true and (R) is not the correct explanation of (A). 

c) (A) is true, but (R) is false.                                     D) (A) is false, but (R) is true  

3)     Opening balance of debtors: ` 60,000, cash received: ` 2,00,000, credit sales: ` 180,000;  closing 

balance of debtors is  

(a) ` 60,000 b) ` 2,60,000 c) ` 80,000 d) ` 40,000 

4) Which of the following should not be recorded in the income and expenditureaccount? 

(a) Sale of old news papers                              (b) Loss on sale of asset 

(c) Honorarium paid to the secretary             ( d) Sale proceeds of furniture 

5) Consider the following statement. 

       Assertion (A) : The receipt and payments account begins with the opening balance of cash and bank, 

and ends with closing balance of cash and bank 

       Reason (R) : Non cash items such as depreciation, outstanding experience and accrued in come are 

show in receipt and payments account 

a) Both (A) and (R) are true and (R) is the correct explanation of (A). 

b) Both (A) and (R) are true and (R) is not the correct explanation of (A). 

c) (A) is true, but (R) is false.                          D) (A) is false, but (R) is true 

6) When a partner withdraws regularly a fixed sum of money at them beginning of every month,  period for 

which interest is to be calculated on the drawings on an average is 

(a) 5.5 moths           (b) 6 months         (c) 12 months          (d) 6.5 months 

7) As per the Indian Partnership Act, 1932, the rate of interest allowed on loans advanced by  partners is  

(a) 8% per annum     (b) 12% per annum   (c) 5% per annum     (d) 6% per annum 
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8) The average rate of return of similar concerns is considered as  

(a) Average profit     (b) Normal rate of return  (c) Expected rate of return   (d) None of these 

9)  Identify the incorrect pair 

   (a) Goodwill under Average profit method - Average profit × Number of years of purchase 

   (b) Goodwill under Super profit method - Super profit × Number of years of purchase 

   (c) Goodwill under Annuity method - Average profit × Present value annuity factor( 

   d) Goodwill under Weighted average - Weighted average profit × Number of years of profit method 

purchase 

10)  Anbu and Raju are partners, sharing profits in the ratio of 3:2. Akshai is admitted as a partner.  The new 

profit sharing ratio among Anbu, Raju and Akshai is 5:3:2. Find out the sacrificing Ratio.   

                 (a) 1:3           (b) 1:1       (c)  2:1          (d) 1:2 

11) Which of the following statements is not true in relation to admission of a partner 

             (a) Generally mutual rights of the partners change 

             (b) The profits and losses of the previous years are distributed to the old partners 

             (c) The firm is reconstituted under a new agreement 

             (d) The existing agreement does not come to an end 

12) At the time of retirement of a partner, determination of gaining ratio is required  

        (a) To transfer revaluation profit or loss            (b) To distribute accumulated profits and losses 

        (c) To adjust goodwill                                       (d) None of these 

13) Kiran, Vinoth and Vimal are partners sharing profits in the ratio of 5:3:2. Kiran retires and the  new 

profit sharing ratio between Vinoth and Vimal is 2:1. Calculate the gaining Ratio  

              (a) 11:3           (b) 11:4         (c) 2:11        (d) 11:2 

14) A preference share is one  

(i) which carries preferential right with respect to payment of dividend at fixed rate 

(ii) which carries preferential right with respect to repayment of capital on winding up 

(a) Only (i) is correct (b) Only (ii) is correct 

(c) Both (i) and (ii) are correct (d) Both (i) and (ii) are incorrect 

15) When applications are allotted in proportion of shares applied for it is called ________  

    a) Application money b) pro-rata allotment. C) allotment Money  d) final call money 

16) Which of the following statements is not true? 

a) All the limitations of financial statements are applicable to financial statement analysis also. 

b) Financial statement analysis is only the means and not an end. 

c) Expert knowledge is not required in analysing the financial statements. 

d) Interpretation of the analysed data involves personal judgement. 

17) A statement giving comparison of net increase or decrease in the individual items of  financial 

statements of two or more years of a business concern is called______  

a) Comparative statement       b) common size statement         c) comparative balance sheet                         

d) common size balance sheet 

18) Match List I with List II and select the correct answer using the codes given below: 

                  List I.                                      List II 

(i) Current ratio                                  1. Liquidity 

(ii) Net profit ratio                            2. Efficiency 

(iii) Debt-equity ratio                       3. Long term solvency 

(iv) Inventory turnover ratio.         4. Profitability  

      Codes: 

     (i) (ii) (iii) (iv) 

(a) 1   4    3     2 

(b) 3    2   4    1 

(c) 4     3   2    1 

(d) 1     2   3    4 
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19) Calculate quick ratio of Ananth Constructions Ltd from the information given below.  Total current 

liabilities 1,00,000,  current assets 2,50,000, Inventories 50,000, Prepaid expenses 15,000 

(a) 1:1.  (b) 2.5:1 (c) 2:1 (d) 1.85: 1 

 20) ` 25,000 withdrawn from bank for office use. In which voucher type, this transaction will be  recorded 

(a) Contra Voucher   (b) Receipt Voucher    (c) Payment Voucher   (d) Sales Voucher 

II Answer any seven questions in which question No.30 is compulsory.                                        {7x2=14 

21) 

22) What is a statement of affairs  

23) A partnership firm has decided to value its goodwill for the purpose of settling a retiring partner. The 

profits of that firm for the last four years were as follows:2015: ` 40,000; 2016: ` 50,000; 2017: ` 48,000 and 

2018: ` 46,000The business was looked after by a partner. No remuneration was paid to him. The fair 

remuneration of the partner valued at comes to ` 6,000 per annum. Find out the value of goodwill, if it is 

valued on the basis of three years purchase of the average profits of the last four years. 

24) What is the journal entry to be passed for providing interest on capital to a partner? 

25)  

26) Anu and Anbuare partners of a firm sharing profits and losses in the ratio of 4:3. They admit Deepa on 

1.1.2019. On that date, their balance sheet showed debit balance of profit and loss account being 

accumulated loss of ` 70,000 on the asset side of the balance sheet. Give the journal entry to transfer the 

accumulated loss on admission. 

27) Nithya Company issues 10,000 equity shares of ` 10 each payable fully on application.Pass journal 

entries if the shares are issued at a premium of ` 2 per share. 
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28)   Harishand vimalare partners sharing profits and losses in the ratio of 5:3. They admit Joel for 1/8share, 

which he acquires entirely from Hari. Find out the new profit sharing ratio and sacrificing ratio. 

29) 

 

30) A) Calculate quick ratio: Total current liabilities ` 2,40,000; Total current assets ` 4,50,000; Inventories ` 

70,000; Prepaid expenses ` 20,000 

     B) Calculate gross profit ratio from the following:Revenue from operations ` 2,50,000, Cost of revenue 

from operations ` 2,10,000 and Purchases ` 1,80,000. 

III   Answer any seven questions in which question No.40 is compulsory.                                  {7x3=21}    

31) Differentiate between statement of affairs and balance sheet.(any 3) 

32) Kumar, Kannan and Mani are partners sharing profits and losses in the ratio of 1/2, 1/3 and 1/6 

respectively. Manohar retires and his share is taken up by Kumar and Kesavan equally. Find out the new 

profit sharing ratio and gaining ratio. 

33) From the following information, compute the value of goodwill by capitalising super profit: 

(a) Capital employed is ` 4,00,000             (b) Normal rate of return is 10% 

(c) Profit for 2016: ` 62,000; 2017: ` 61,000 and 2018: ` 63,000 

34) Prabu, Ragu and Siva are partners sharing profits and losses in the ratio of 3:2:1. Prabu  retires from 

partnership on 1st April 2017. The following adjustments are to be made: 

(i) Increase the value of building by ` 12,000       (ii) Reduce the value of furniture by ` 8,500 

(iii)A provision would also be made for outstanding salary for ` 6,500. Give journal entries and prepare 

revaluation account. 

35)   Mannan and Ramesh share profits and losses in the ratio of 3:2 and their capital on 1st April, 2018 was 

Mannan ` 1,50,000 and Ramesh ` 1,00,000 respectively and their current accounts show a credit balance of ` 

25,000 and ` 20,000 respectively. Calculate interest on capital at 6% p.a. for the year ending 31st March, 

2019 and show the journal entries. 

36)  Explain how to view Profit and loss statement in Tally. ERP 9 ? 
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37) 

 

38)   

 

39)  
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40) 

 

IV Answer all the questions.                                                                                                            {7x5=35}     

41) a  
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43 

 

44 ) a. 
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b) [OR] 

45) a 

 [ OR]  
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46) A) Mugil and Gokul are partners in a firm. Murali is to get a commission of 10% of net profit  

before charging any commission. Sethu is to get a commission of 10% on net profit after  charging all 

commission. Net profit for the year ended 31st March 2019 before charging any  commission was ` 

1,10,000. Find the amount of commission due to Mugiland Gokul and you are required to pass the necessary 

journal entry. Assume that their capitals are fluctuating.                       (OR).  

B) Ramya is a partner in a firm. She withdraws ` 2,500 p.m. regularly. Interest on drawings  is charged @ 

4% p.a. Calculate the interest on drawings using average period, and pass the necessary journal entry of , if 

she draws 

(i) at the beginning of every month   (ii) in the middle of every month       (iii) at the end of every month 

47) A) Shankar is interested in playing chess. He joined a chess club. But, he could not pay the membership 

fee. He has little accounting knowledge. But, he is not familiar with the accounting records of the clubs and 

societies. The accountant of the club suggested him to help with maintaining the accounting records for the 

club, so that he need not pay the membership fee. The club also has a cafe, where members can buy snacks, 

coffee and tea. Shankar offered his help to the café too. He is not clear on certain terms and accounting 

practices of the club. But, he is so eager to learn. He needs explanation on the following. 

1) What is the main source of income for the club? 

2) Is receipts and payments account the same as cash book? 

3) Are the members allowed to draw money when a club has surplus of income? 

4) How is donation treated? 

5) If the members do not pay the membership fee at the end of the accounting period, how will this be 

considered and treated in the accounting records? 

 

B)  
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